OO0 gupiaozhishiba.com

Jbobogtbbbtotdtbottdbootdbototdun
Jo3odooooboodgoooodo-o0t

Jooboooogouotdbobooboobon

Oo0o0o0ooOoo0ooooooooooooooooooooan
Oooooooooooooooooooooooog
Oo0ooooOoooooooooooooooooog
0000 0O (rate of return on

investment) U 0 0 0000000000 0O0OOOODOO0O0O0O0OOOOOOO0O
0000000000000 ooooooooodoooooooooo
EO

O0000D=00000/ 00000000000 bobobobobo0ogoo
00
O0o00o0oOo000d0oooooobobobobbbodoooooooooo
OO000o0o0OoO00000o0ooooooooooo0ooooooooo

oot obooogoubogod

Joodoooboogiouziiouuooonuoooo1eidrd3nn
Jodduobboboooouoboobooooobouob oo riIoobo o
oogoobooboooobgd
Jobogooboooboobuoboboobuobboobuobboobogao
oogobouooboon
oogobbooboobboobuoooboon

oot tgdbootdbootdn

Joddobbbuggooobbuooooooobbgoooooobbod
Jogdoolioriodgoooobgoooooobbogoooooon
goad

oo1/4



OO0 gupiaozhishiba.com

Joooodouotdoobobooo3agboogoouogn
Joooobogd

JobogonarMtibbobugbboobogooboArpPOOO0bOoon
Jooduobobbouoooouoobbuouoooobob2oooog
Jobodobboobuobuoobooobobooobooon
Jobogobbooobooobuobbooobuoboboobouobboon
Jobogobuoo=hugobtoobuobboobuoobuoobobuoobd
Joogoboboobtb+gobuobbooboolibgo=0ooo*xod
0

Jz20dooobogoggooobbuogooon
J3juuobobugogooubbbuoooooobbuogoooooon
ooooon

4o booouoobooogd

oo/ gougo3xuonnoooTboobougonon
00O 0O =17.97*400=71880 [ O O =7188*(1+3)/1000=28.752
O0Oo000D0O0O0=1756944 (0 0 000O0O0OODO)YDDODODODODOO O =9561.6
0000000 =19357.9+15085.12=34443.020 U U O OO g =0

0 0O 0 0O =7188-28.752+17569.44+9561.6-34443.02=0] -152.732[]

Jogoogododod

oogobooobooobouooooo® bugo” oobuobboooga
obogobbooobooobboobobgd

Joooodouodoobooboooo3dnoooouodn
Jooooogn

gobogonaMMtibbgobougbbgobouooboApPOO OO0 oon
oot uoooouoobobuouooooboo2n0ooog
Jobodobboobobouooboobobuoobooon
bbb oobouoboboobouobboon

oo2/4



OO0 gupiaozhishiba.com

Jobdobuo=0ugobuoobuoboboobuobouobobuoood
oo+ oooobooboowygoo=0o0oo*xon
0d

2000 ooboooooouooobooooog
3o ubobbouooooobobouoooooon
ooogon

H400goboobouobobooogd
Jogooolryrgogoouo3xu oo Tooooooboogn
00O 0 =17.97*400=71880 [0 [ O =7188*(1+3)/1000=28.752
OD0D000000=1756944 (0 000O0O0O0O0OO)Y)YIODOO0ODODOO=9561.6
O00onDi=19357.9+15085.12=34443.020 L U U OO O =0

[ 00O 0O =7188-28.752+17569.44+9561.6-34443.02=0] -152.732[]

Joooouodotdooboobooououbouobooboon
Jogboogoogogogn

oooooooo® og” --* 00od” oooooooooooooogoo®
0000000000 xxxx-xx-xx, 0 O O 0 XXXX=-XX-
xUOOOodoooooooooooooog” O

O0000201001200 000000000 02010-12-0100 00 00 2010-12-310 O O
“O00” ooooodoooooodbooborzooooooooo® 0d0%” O
00000

HRERERE

oo

0000000000000 .pdf
Jooooooooooooonn

ool
Joooaooooooooin
Joogooooogoin
JO00o0000000d0gmn.doc
Joodooooooiooooooo..

0o 3/4


/neirong/TCPDF/examples/output.php?c=/chapter/40873179.html&n=如何查找股票历年收益.pdf
/article/8012.html
/read/8221.html
/author/8428.html
/subject/8910.html
/neirong/TCPDF/examples/output.php?c=/chapter/40873179.html&n=如何查找股票历年收益.doc
https://www.baidu.com/s?wd=%E5%A6%82%E4%BD%95%E6%9F%A5%E6%89%BE%E8%82%A1%E7%A5%A8%E5%8E%86%E5%B9%B4%E6%94%B6%E7%9B%8A

OO0 gupiaozhishiba.com

ERERN
oboggobogon
Jooggobooboogobgd

https.//www.gupiaozhishiba.com/chapter/40873179.html

0o4/4


https://www.gupiaozhishiba.com/chapter/40873179.html
http://www.tcpdf.org

